

Wiesław Królikowski

## A CLIFFORD-TYPE STRUCTURE

### Introduction

In the paper a Clifford-type structure is introduced and some considerations on Clifford-type manifolds are developed. First of all an analog of the fundamental 2-form of complex analysis is defined and using it a decomposition analogous to the Hodge Decomposition Theorem for Kähler manifolds is given for Clifford-type manifolds. By the Chern Theorem [5] we get an increasing sequence of Betti numbers for Clifford-type manifolds.

### 1. A Clifford-type structure

Let  $V$  be a real vector space.

DEFINITION 1.1. An *almost Clifford-type structure*  $\mathcal{C}_n$  on  $V$  is a set of  $n$  almost complex structures  $\{I_1, \dots, I_n\}$  such that

$$I_\alpha I_\beta + I_\beta I_\alpha = -2\delta_{\alpha\beta} Id, \quad \alpha, \beta = 1, \dots, n,$$

where  $Id$  stands for the identity endomorphism of  $V$ ,  $\delta$  denotes the „Kronecker delta”.

REMARK 1.1. a) If  $n = 1$ , then  $\mathcal{C}_1 = \{I\}$  with  $I^2 = -Id$ . Thus,  $\mathcal{C}_1$  is nothing but an almost complex structure. Recall that the standard form of an almost complex structure looks as follows:

$$I_o = \begin{pmatrix} 0 & I \\ -I & 0 \end{pmatrix}, \quad (I = Id)$$

provided that  $V$  has an even dimension (see, e.g. [10]).

b) If  $n = 2$ , then  $\mathcal{C}_2 = \{I, J\}$  with  $I^2 = J^2 = -Id$  and  $IJ + JI = 0$ . Define  $K := IJ$ , then  $IKK = -Id$  and  $K^2 = -Id$ . Thus,  $\mathcal{C}_2$  corresponds to

---

1991 *Mathematics Subject Classification*: 30G35, 32A30, 32K15, 53C10-53C40.

*Key words and phrases*: quaternionic structures and manifolds, Clifford and exterior algebras, holonomy groups.

the almost quaternionic structure (see, e.g. [7, 12]). The standard form of an almost quaternionic structure looks as follows:

$$I_o = \begin{pmatrix} 0 & I & 0 & 0 \\ -I & 0 & 0 & 0 \\ 0 & 0 & 0 & -I \\ 0 & 0 & I & 0 \end{pmatrix}, \quad J_o = \begin{pmatrix} 0 & 0 & I & 0 \\ 0 & 0 & 0 & I \\ -I & 0 & 0 & 0 \\ 0 & -I & 0 & 0 \end{pmatrix},$$

$$K_o = \begin{pmatrix} 0 & 0 & 0 & I \\ 0 & 0 & -I & 0 \\ 0 & I & 0 & 0 \\ -I & 0 & 0 & 0 \end{pmatrix},$$

provided that  $\dim_{\mathbb{R}} V = 4n$ .

Note that any almost Clifford-type structure  $\mathcal{C}_n = \{I_1, \dots, I_n\}$  induces the following set of almost complex structures:

$I_1, \dots, I_n$ ;  
 $I_1 I_2, I_1 I_3, \dots, I_1 I_n, \dots, I_{n-1} I_n$ ;  
 no triple is an almost complex structure;  
 $I_1 I_2 I_3 I_4, \dots, I_{n-3} I_{n-2} I_{n-1} I_n$ ;  
 no odd tuple is an almost complex structure;  
 etc.

Denote by  $p'_n$  the number of the above almost complex structures, then

$$p'_n = \begin{cases} \binom{n}{1} + \binom{n}{2} + \binom{n}{4} + \dots + \binom{n}{n-1}, & \text{if } n \text{ is odd,} \\ \binom{n}{1} + \binom{n}{2} + \binom{n}{4} + \dots + \binom{n}{n}, & \text{if } n \text{ is even.} \end{cases}$$

Let us denote

$$p''_n := 2^n - p'_n$$

then, for  $n \geq 3$  we have the following general formulae:

$$p'_n = 2^n - 2p''_{n-1} - (n-3),$$

$$p''_n = 2p''_{n-1} + (n-3).$$

By the straightforward calculations we get the following numbers:

$$p'_1 = 1, \quad p'_2 = 3, \quad p'_3 = 6, \quad p'_4 = 11,$$

$$p'_5 = 20, \quad p'_6 = 37, \quad p'_7 = 70, \quad p'_8 = 135, \quad \text{etc.}$$

Denote by  $V(n)$  a real vector space endowed with a Clifford-type structure  $\mathcal{C}_n = \{I_1, \dots, I_n\}$ , then

THEOREM 1.1. *We have*

$$\dim_{\mathbb{R}} V(n) = 2^n \cdot s,$$

where  $s > 0$  is an integer.

Proof. Assume that a real vector space  $V$  is equipped with an almost Clifford-type structure  $\mathcal{C}_n = \{I_1, \dots, I_n\}$  with

$$I_\alpha I_\beta + I_\beta I_\alpha = -2\delta_{\alpha\beta} Id, \quad \alpha, \beta = 1, \dots, n.$$

Since

$$\mathcal{G} := \{a^1 I_1 + \dots + a^n I_n; a^1, \dots, a^n \in \mathbb{R} \text{ and } (a^1)^2 + \dots + (a^n)^2 = 1\}$$

is a compact group, then  $V$  can be split into a direct sum of irreducible vector subspaces (see, e.g. [5], p. 14) and thus the proving of the Theorem for  $V$  irreducible will suffice.

Let  $X \in V$ ,  $X \neq 0$ . Consider the vector subspace  $V_1$  of  $V$  generated by  $X, I_1 X, I_2 X, \dots, I_{n-1} X$ , then  $I_n V_1$  cannot belong to  $V_1$ . Indeed, if  $I_n V_1$  belonged to  $V_1$ , then there would exist a matrix

$$A = \begin{pmatrix} a_o^o & \dots & a_o^{n-1} \\ \cdot & \dots & \cdot \\ \cdot & \dots & \cdot \\ a_{n-1}^o & \dots & a_{n-1}^{n-1} \end{pmatrix} \in \mathcal{M}(n; \mathbb{R})$$

with  $\det A \neq 0$  such that

$$\begin{aligned} I_n X &= a_o^o X + a_o^1 I_1 X + \dots + a_o^{n-1} I_{n-1} X, \\ I_n(I_1 X) &= a_1^o X + a_1^1 I_1 X + \dots + a_1^{n-1} I_{n-1} X, \\ &\dots\dots\dots \\ I_n(I_{n-1} X) &= a_{n-1}^o X + a_{n-1}^1 I_1 X + \dots + a_{n-1}^{n-1} I_{n-1} X. \end{aligned}$$

Since

$$I_n(I_n X) = -X \quad (I_n^2 = -Id)$$

then we get

$$\begin{aligned} I_n(I_n X) &= I_n(a_o^o X + a_o^1 I_1 X + \dots + a_o^{n-1} I_{n-1} X) \\ &= a_o^o I_n X + a_o^1 I_n(I_1 X) + \dots + a_o^{n-1} I_n(I_{n-1} X) \\ &= a_o^o(a_o^o X + a_o^1 I_1 X + \dots + a_o^{n-1} I_{n-1} X) \\ &\quad + a_o^1(a_1^o X + a_1^1 I_1 X + \dots + a_1^{n-1} I_{n-1} X) \\ &\quad + \dots\dots\dots \\ &\quad + a_o^{n-1}(a_{n-1}^o X + a_{n-1}^1 I_1 X + \dots + a_{n-1}^{n-1} I_{n-1} X), \end{aligned}$$



Generally, for  $\alpha = m$  we have

$$\begin{aligned} a_m^o &= a_o^m, \quad m = 1, \dots, n-1, \\ a_o^o &= -a_1^1 = -a_2^2 = \dots = -a_{n-1}^{n-1}, \\ a_o^m &= 0, \quad m = 1, \dots, n-1, \\ a_1^2 &= a_1^3 = \dots = a_1^{n-1} = 0, \\ a_2^1 &= a_2^3 = \dots = a_2^{n-1} = 0, \\ a_3^1 &= a_3^2 = a_3^4 = \dots = a_3^{n-1} = 0, \\ &\dots\dots\dots \\ a_{n-1}^1 &= a_{n-1}^2 = \dots = a_{n-1}^{n-2} = 0. \end{aligned}$$

Substituting the above relations to the system (1.1) we get

$$(a_o^o)^2 = -1,$$

which is a contradiction.

Consider the subspace  $V_o$  of  $V$  generated by  $V_1$  and  $I_n V_1$ . Since  $V_o$  is invariant under the whole group  $\mathcal{G}$  then this subspace  $V_o$  must be  $V$  since it is irreducible. Thus

$$V = V_1 \oplus I_n V_1.$$

Then,  $\dim V = \dim V_1 + \dim(I_n V_1)$ , so  $\dim V = 2 \cdot \dim V_1$ , i.e.  $\dim V(n) = 2 \cdot \dim V(n-1)$ . Since  $\dim V(1) = 2s$  for some integer  $s > 0$ , then

$$\dim V(n) = 2^n \cdot s. \blacksquare$$

## 2. The fundamental form $\Omega$

Let  $V$  be a real vector space equipped with an almost Clifford-type structure  $\mathcal{C}_n = \{I_1, \dots, I_n\}$ .

Denote by  $\mathcal{A}_n$  the field of "Clifford-type numbers". A typical element of  $\mathcal{A}_n$  can be written as

$$a := x_o + e_1 x_1 + e_2 x_2 + \dots + e_n x_n, \quad x_o, x_1, \dots, x_n \in \mathbb{R}$$

and the "Clifford-type units"  $e_1, \dots, e_n$  satisfy the relations:

$$e_k \cdot e_m + e_m \cdot e_k = -2\delta_{km}, \quad k, m = 1, \dots, n.$$

Let  $\mathcal{A}_n^p \equiv \mathbb{R}^{(n+1)p}$  denote the "Clifford-type" Euclidean  $p$ -space with coordinates  $A = (a^1, \dots, a^p)$ , where

$$a^s = x_o^s + e_1 x_1^s + e_2 x_2^s + \dots + e_n x_n^s, \quad s = 1, \dots, p$$



DEFINITION 2.1. Let us define  $n$  skew symmetric bilinear forms  $\omega_1, \dots, \omega_n$  on  $\mathcal{A}_n^p$  as follows:

$$\begin{aligned}\omega_1(A, B) &:= \langle A, I_1 B \rangle, \\ \omega_2(A, B) &:= \langle A, I_2 B \rangle, \\ &\dots\dots\dots \\ \omega_n(A, B) &:= \langle A, I_n B \rangle.\end{aligned}$$

Assume that

$$n + 1 = 2^w$$

for some integer  $w > 0$ .

DEFINITION 2.2. We define a  $2^w$ -form  $\Omega$  on  $\mathcal{A}_n^p$  by

$$\Omega := \underbrace{\omega_1 \wedge \dots \wedge \omega_1}_{w \text{ times}} + \underbrace{\omega_2 \wedge \dots \wedge \omega_2}_{w \text{ times}} + \dots + \underbrace{\omega_n \wedge \dots \wedge \omega_n}_{w \text{ times}}.$$

### 3. Splitting of forms

One can extend the definition of the "star" operator  $*$  and the operators  $L$  and  $\Lambda$  to the "Clifford-type" case.

Let  $\bigwedge(\mathcal{A}_n^p)'$  be the exterior algebra over  $\mathbb{R}$  considering  $(\mathcal{A}_n^p)'$  as a real  $2^w \cdot p$ -dimensional vector space. Every element of  $\bigwedge(\mathcal{A}_n^p)'$  is a linear combination of "simple"  $r$ -forms

$$\omega = \omega_1 \wedge \dots \wedge \omega_r,$$

where  $\omega_i$  is one of

$$\alpha_s^o, \alpha_s^1, \dots, \alpha_s^n, \quad s = 1, \dots, p.$$

DEFINITION 3.1. Define  $*$ ,  $L$  and  $\Lambda$  on  $\bigwedge(\mathcal{A}_n^p)'$  as follows:

if  $\omega$  is a simple  $r$ -form then  $*\omega$  is the simple  $[(n+1) \cdot p - r] = (2^w p - r)$ -form such that  $\omega \wedge *\omega$  is the form:

$$\alpha_1^o \wedge \alpha_1^1 \wedge \dots \wedge \alpha_1^n \wedge \dots \wedge \alpha_p^o \wedge \alpha_p^1 \wedge \dots \wedge \alpha_p^n.$$

Next we extend  $*$  by linearity to  $\bigwedge(\mathcal{A}_n^p)'$ . On an arbitrary exterior form  $\omega$  we define

$$L\omega := \Omega \wedge \omega, \quad \Lambda\omega := *(\Omega \wedge *\omega).$$

REMARK 3.1.

1. For all  $\omega \in \bigwedge(\mathcal{A}_n^p)'$  we have  $**\omega = \omega$ .
2.  $L : \bigwedge^r(\mathcal{A}_n^p)' \longrightarrow \bigwedge^{r+(n+1)}(\mathcal{A}_n^p)' \equiv \bigwedge^{r+2^w}(\mathcal{A}_n^p)'$ .
3.  $\Lambda : \bigwedge^r(\mathcal{A}_n^p)' \longrightarrow \bigwedge^{r-(n+1)}(\mathcal{A}_n^p)' \equiv \bigwedge^{r-2^w}(\mathcal{A}_n^p)'$ .

DEFINITION 3.2. Let us define a bilinear form  $(\ , \ )$  on  $\bigwedge^r(\mathcal{A}_n^p)'$  by

$$(\omega, \omega') := *(\omega \wedge *\omega') \quad \text{for } \omega, \omega' \in \bigwedge^r(\mathcal{A}_n^p)'.$$

LEMMA 3.1. We have

$$(L\omega, \omega') = (\omega, \Lambda\omega')$$

for  $\omega \in \bigwedge^r(\mathcal{A}_n^p)'$  and  $\omega' \in \bigwedge^{r+(n+1)}(\mathcal{A}_n^p)' \equiv \bigwedge^{r+2^w}(\mathcal{A}_n^p)'$ .

Proof. This follows by straightforward calculations. ■

LEMMA 3.2. The mapping

$$L : \bigwedge^r(\mathcal{A}_n^p)' \longrightarrow \bigwedge^{r+(n+1)}(\mathcal{A}^p)' \equiv \bigwedge^{r+2^w}(\mathcal{A}^p)'$$

is an isomorphism into for  $r + (n + 1) \leq p + 1$  ( $r + 2^w \leq p + 1$ ).

Proof. It is sufficient to prove that for  $\omega \in \bigwedge^r(\mathcal{A}_n^p)'$ ,  $r + (n + 1) \leq p + 1$ , the relation

$$L\omega = \Omega \wedge \omega = 0 \quad \text{implies} \quad \omega = 0.$$

Assume that  $\omega \neq 0$  and write

$$\omega = \sum_{A_o, A_1, \dots, A_n} \gamma_{A_o, A_1, \dots, A_n} \alpha_{A_o}^o \wedge \alpha_{A_1}^1 \wedge \dots \wedge \alpha_{A_n}^n,$$

where  $A_o, A_1, \dots, A_n$  are subsets of the index set  $\{1, \dots, p\}$  and if

$$A_o = \{i_1, \dots, i_s\} \subseteq \{1, \dots, p\}, \quad \text{then} \quad \alpha_{A_o}^o = \alpha_{i_1}^o \wedge \dots \wedge \alpha_{i_s}^o.$$

In the summation above, consider the term with the highest total degree, say  $t$ , in  $\alpha^o$ 's and  $\alpha^1$ 's. Let  $\omega'$  be the sum of these terms:

$$\omega' = \sum \gamma_{A_o A_1 \dots A_n} \alpha_{A_o}^o \wedge \alpha_{A_1}^1 \wedge \dots \wedge \alpha_{A_n}^n \neq 0,$$

where the summation is taken over the indices  $A_o, A_1, \dots, A_n$  such that  $|A_o| + |A_1| = t$  ( $|A_o|, |A_1|$  denote the cardinalities of  $A_o$  and  $A_1$ , respectively).

Similarly, we express  $L\omega = \Omega \wedge \omega$  in  $\alpha_{A_o}^o, \alpha_{A_1}^1, \dots, \alpha_{A_n}^n$  and consider the terms with the highest total degree in  $\alpha^o$ 's and  $\alpha^1$ 's. From the expressions for  $\omega_1, \dots, \omega_n$ , it follows that the sum of these terms is given by

$$\sum_{\delta, \kappa=1}^p \alpha_{\delta}^o \wedge \alpha_{\delta}^1 \wedge \alpha_{\kappa}^o \wedge \alpha_{\kappa}^1 \wedge \omega'.$$

The equation  $L\omega = 0$  implies that

$$\sum_{\delta, \kappa=1}^p \alpha_{\delta}^o \wedge \alpha_{\delta}^1 \wedge \alpha_{\kappa}^o \wedge \alpha_{\kappa}^1 \wedge \omega' = 0,$$



which means that

$$\sum_{A_2, \dots, A_n} \left( \sum_{\delta, \kappa, A_o, A_1} \gamma_{A_o A_1 \dots A_n} \alpha_\delta^o \wedge \alpha_\delta^1 \wedge \alpha_\kappa^o \wedge \alpha_\kappa^1 \wedge \alpha_{A_o}^o \wedge \alpha_{A_1}^1 \right) \wedge \alpha_{A_2}^2 \wedge \dots \wedge \alpha_{A_n}^n = 0.$$

This implies that

$$\left( \sum_{\delta=1}^p \alpha_\delta^o \wedge \alpha_\delta^1 \right) \wedge \left( \sum_{\kappa=1}^p \alpha_\kappa^o \wedge \alpha_\kappa^1 \right) \wedge \left( \sum_{A_o, A_1} \gamma_{A_o \dots A_n} \alpha_{A_o}^o \wedge \alpha_{A_1}^1 \right) = 0$$

for each fixed  $A_2, \dots, A_n$ , or

$$(\Omega')^2 \wedge \omega'' = 0,$$

where

$$\Omega' := \sum_{\delta=1}^p \alpha_\delta^o \wedge \alpha_\delta^1 \quad \text{and} \quad \omega'' := \sum_{A_o, A_1} \gamma_{A_o \dots A_n} \alpha_{A_o}^o \wedge \alpha_{A_1}^1 \neq 0.$$

Let us consider the  $p$ -dimensional complex vector space with the coordinate system

$$\alpha_1^o + i\alpha_1^1, \dots, \alpha_p^o + i\alpha_p^1.$$

Then  $\Omega'$  is the fundamental 2-form. Applying the Hodge Decomposition Theorem (since degree of  $\omega'' \leq p-3$ ), the equality

$$\Omega' \wedge (\Omega' \wedge \omega'') = 0$$

implies that  $\Omega' \wedge \omega'' = 0$ , which in turn implies that  $\omega'' = 0$ , which is a contradiction. ■

**DEFINITION 3.3.** A  $r$ -form  $\omega$  is said to be *effective* if  $\Lambda\omega = 0$ . We denote by  $\bigwedge_{ef}^r \subset \bigwedge^r(\mathcal{A}_n^p)$  the set of all effective  $r$ -forms.

**THEOREM 3.1.** *There is the following direct sum decomposition of  $\bigwedge^r(\mathcal{A}_n^p)$ , namely: for  $r \leq p+1$  and  $z = \lfloor \frac{r}{n+1} \rfloor (= \lfloor \frac{r}{2^w} \rfloor)$ , we have*

$$\begin{aligned} \bigwedge^r(\mathcal{A}_n^p)' &= \bigwedge_{ef}^r \oplus L \bigwedge_{ef}^{r-(n+1)} \oplus \dots \oplus L^z \bigwedge_{ef}^{r-(n+1) \cdot z} \\ (\bigwedge^r(\mathcal{A}_n^p))' &= \bigwedge_{ef}^r \oplus L \bigwedge_{ef}^{r-2^w} \oplus \dots \oplus L^z \bigwedge_{ef}^{r-2^w \cdot z}. \end{aligned}$$

**Proof.** By Lemma 3.2  $L$  is an isomorphism into. Moreover, by Lemma 3.1  $\Lambda$  is the adjoint of  $L$  and it is therefore onto for  $r \leq p+1$ .

We will prove the Theorem by the induction on  $r$ .

The statement is true for  $r = 0, 1, 2, \dots, [(n+1) - 1] = 0, 1, \dots, n = 0, 1, \dots, (2^w - 1)$ , since  $\Lambda$  lowers degree by  $(n+1) = 2^w$  and hence  $\bigwedge^r = \bigwedge_{ef}^r$  for these  $r$ 's.

Let us assume that the Theorem is true for  $m < r$ . We shall prove it for  $m = r$ . We claim that  $\bigwedge_{ef.}^r$  is the orthogonal complement of the subspace  $L \bigwedge^{r-(n+1)}(\mathcal{A}_n^p)'$  in  $\bigwedge^r(\mathcal{A}_n^p)'$ .

It easy to show the orthogonality. Let  $\omega \in \bigwedge_{ef.}^r$  and

$$L\omega' \in L \bigwedge^{r-(n+1)}(\mathcal{A}_n^p)',$$

then

$$(\omega, L\omega') = (\Lambda\omega, \omega') = (0, \omega') = 0.$$

To prove that  $\bigwedge_{ef.}^r$  is an orthogonal complement of  $L \bigwedge^{r-(n+1)}(\mathcal{A}_n^p)'$ , take  $\omega \in \bigwedge^r(\mathcal{A}_n^p)'$  such that  $(\omega, L\omega') = 0$  for all  $\omega' \in \bigwedge^{r-(n+1)}(\mathcal{A}_n^p)'$ . Then  $(\Lambda\omega, \omega') = 0$  and hence  $\Lambda\omega = 0$  because  $(\ , \ )$  is a nondegenerate bilinear form.

Thus, by the induction hypothesis we have

$$\bigwedge^r(\mathcal{A}_n^p)' = \bigwedge_{ef.}^r \oplus L \bigwedge^{r-(n+1)}(\mathcal{A}_n^p)' = \bigwedge_{ef.}^r \oplus L \bigwedge_{ef.}^{r-(n+1)} \oplus \dots \oplus L^z \bigwedge_{ef.}^{r-2^s \cdot z} . \blacksquare$$

**THEOREM 3.2.**  $\Omega^p \neq 0$ .

**Proof.** Since

$$\Omega := \underbrace{\omega_1 \wedge \dots \wedge \omega_1}_{w \text{ times}} + \underbrace{\omega_2 \wedge \dots \wedge \omega_2}_{w \text{ times}} + \dots + \underbrace{\omega_n \wedge \dots \wedge \omega_n}_{w \text{ times}},$$

so  $\Omega^p$  is a sum of  $2^w \cdot p$ -forms. Thus, it will be a sum of

$$(3.1) \quad \epsilon \alpha_1^o \wedge \alpha_1^1 \wedge \dots \wedge \alpha_1^n \wedge \alpha_2^o \wedge \alpha_2^1 \wedge \dots \wedge \alpha_2^n \wedge \dots \wedge \alpha_p^o \wedge \alpha_p^1 \wedge \dots \wedge \alpha_p^n,$$

where  $\epsilon = \pm 1$ . We will show that  $\epsilon$  equals  $+1$ .

Each term of  $\Omega^p$  is a product of the 2-forms:

$$(3.2) \quad \begin{aligned} & \alpha_s^o \wedge \alpha_s^1, \alpha_s^2 \wedge \alpha_s^3, \dots, \alpha_s^{n-1} \wedge \alpha_s^n; \\ & \alpha_s^o \wedge \alpha_s^2, \alpha_s^3 \wedge \alpha_s^4, \dots, \alpha_s^{n-2} \wedge \alpha_s^{n-1}, \alpha_s^n \wedge \alpha_s^1; \\ & \alpha_s^o \wedge \alpha_s^3, \alpha_s^1 \wedge \alpha_s^2; \\ & \dots \dots \dots \alpha_s^o \wedge \alpha_s^n. \end{aligned}$$

For example: (recall that  $n+1 = 2^w$  implies that  $n$  is an odd integer) if  $n = 3$ , then we have

$$\alpha^o \wedge \alpha^1 \wedge \alpha^2 \wedge \alpha^3$$

and

$$\begin{array}{ll} \alpha^0 \wedge \alpha^1, & \alpha^2 \wedge \alpha^3, \\ \alpha^0 \wedge \alpha^2, & \alpha^3 \wedge \alpha^1, \\ \alpha^0 \wedge \alpha^3, & \alpha^1 \wedge \alpha^2. \end{array}$$

For  $n = 5$ :

$$\begin{array}{l} \alpha^0 \wedge \alpha^1 \wedge \alpha^2 \wedge \alpha^3 \wedge \alpha^4 \wedge \alpha^5, \\ \alpha^0 \wedge \alpha^1, \quad \alpha^2 \wedge \alpha^3, \quad \alpha^4 \wedge \alpha^5, \\ \alpha^0 \wedge \alpha^2, \quad \alpha^3 \wedge \alpha^4, \quad \alpha^5 \wedge \alpha^1, \\ \alpha^0 \wedge \alpha^3, \quad \alpha^1 \wedge \alpha^2, \\ \alpha^0 \wedge \alpha^4, \\ \alpha^0 \wedge \alpha^5. \end{array}$$

etc.

Now, let us take one of the summands and rearrange it so that the subscripts will be in nondecreasing order, i.e. so that the summand will be an exterior product of the  $(n+1) \cdot p (= 2^w \cdot p)$  elements:

$$\begin{array}{l} \alpha_1^0, \alpha_1^1, \dots, \alpha_1^n, \\ \alpha_2^0, \alpha_2^1, \dots, \alpha_2^n, \\ \dots\dots\dots \\ \alpha_p^0, \alpha_p^1, \dots, \alpha_p^n \end{array}$$

such that the first  $(n+1)$ -elements in the product will have subscript 1, the next  $(n+1)$  will have subscript 2, etc. Since in the original product, we multiply pairs with the same indices, in order to achieve the new product, we have to permute the elements in the product by an even permutation. Hence we do not change the value of the product.

Take the term in the product consisting of  $(n+1)$  elements with the index  $s$ . Since it is a product of the terms in (3.2), it must be one of the following  $(n+1) - 1$  forms (else would 0):

$$\begin{array}{l} \alpha_s^0 \wedge \alpha_s^1 \wedge \alpha_s^2 \wedge \dots \wedge \alpha_s^{n-1} \wedge \alpha_s^n, \\ \alpha_s^0 \wedge \alpha_s^2 \wedge \alpha_s^3 \wedge \dots \wedge \alpha_s^n \wedge \alpha_s^1, \\ \alpha_s^0 \wedge \alpha_s^3 \wedge \alpha_s^4 \wedge \dots \wedge \alpha_s^{n-1} \wedge \alpha_s^n \wedge \alpha_s^1 \wedge \alpha_s^2, \\ \dots\dots\dots \\ \alpha_s^0 \wedge \alpha_s^n \wedge \alpha_s^1 \wedge \alpha_s^2 \wedge \alpha_s^3 \wedge \dots \wedge \alpha_s^{n-2} \wedge \alpha_s^{n-1}, \end{array}$$

which are equal to each other. So, each summand is equal to (3.1) with  $\epsilon = +1$  and  $\Omega^p$  is a nonzero multiple of it. ■

#### 4. Clifford-type manifolds

DEFINITION 4.1. Assume that  $(M, g)$  is a Riemannian manifold. An *almost Clifford-type structure* on  $(M, g)$  is defined as a covering  $\{U^i\}$  of the manifold  $M$  with a set of almost complex structures  $\{I_1^i, \dots, I_n^i\}$  on each  $U^i$  such that

$$I_\alpha^i I_\beta^i + I_\beta^i I_\alpha^i = -2\delta_{\alpha\beta} Id$$

and the  $n$ -dimensional vector spaces of endomorphisms generated by complex structures  $I_1, \dots, I_n$ :

$$End_{U^i} := \{a^1 I_1 + \dots + a^n I_n; a^1, \dots, a^n \in \mathbb{R}\}$$

are the same on all of the manifold.

DEFINITION 4.2. A Riemannian metric  $g$  is Clifford-type-Hermitian if  $g$  is Hermitian for each  $I_1, \dots, I_n$ .

DEFINITION 4.3. a) A Riemannian manifold  $(M, g)$  with an almost Clifford-type structure  $C_n$  is called *almost Clifford-type manifold*.

b) An almost Clifford-type manifold  $(M, g, C_n)$  with a metric  $g$  Clifford-type-Hermitian is called *almost Clifford-type-Hermitian*.

Assume that  $(M, g, C_n)$  is an almost Clifford-type-Hermitian manifold. Let  $\{I_1, \dots, I_n\} \in C_n$ . Consider 2-forms  $\omega_1, \dots, \omega_n$  defined as follows:

$$\omega_1(X, Y) := g(X, I_1 Y),$$

.....

$$\omega_n(X, Y) := g(X, I_n Y),$$

where  $X$  and  $Y$  are arbitrary  $C^\infty$ -vector fields on  $M$ .

DEFINITION 4.4. If  $n + 1 = 2^w$ , let us define the  $2^w$ -form  $\Omega$  as follows:

$$\Omega := \underbrace{\omega_1 \wedge \dots \wedge \omega_1}_{w \text{ times}} + \underbrace{\omega_2 \wedge \dots \wedge \omega_2}_{w \text{ times}} + \dots + \underbrace{\omega_n \wedge \dots \wedge \omega_n}_{w \text{ times}}.$$

Denote by  $Sp[(n + 1) \cdot p]$  the set of all endomorphisms of  $\mathcal{A}_n^p$  which preserve the "Clifford symplectic product":

$$(A, B) := \sum_{\beta=1}^p a^\beta \bar{b}^\beta, \quad A = (a^1, \dots, a^p), \quad B = (b^1, \dots, b^p) \in \mathcal{A}_n^p.$$

A norm of  $A \in \mathcal{A}_n^p$  is defined as usually by

$$||A||^2 := (A, A) = \sum_{\beta=1}^p a^\beta \bar{a}^\beta$$

and can be used to express the inverse element of  $A \neq 0$ :

$$A^{-1} := \frac{1}{||A||^2} \cdot \bar{A}.$$

Let us denote

$$Sp(n+1) := \{a \in \mathcal{A}_n; ||a|| = 1\}.$$

Note

1.  $Sp(n+1)$  is a group,
2.  $Sp[(n+1) \cdot p] \subseteq SO[(n+1) \cdot p]$ .

DEFINITION 4.5. A  $(n+1) \cdot p$ -dimensional Riemannian manifold  $M$  is called a *Clifford-type manifold* if its holonomy group is a subgroup of  $Sp[(n+1) \cdot p] \times Sp(n+1)$ .

EXAMPLES 4.1.

1. The basic examples of Clifford-type manifolds are „quaternionic” manifolds. Note that for  $n = 2$  ( $I_1, I_2$ ) there are three almost complex structures on a given Riemannian manifold  $(M, g)$ , namely:  $I_1, I_2, I_3 := I_1 I_2$  and  $\dim_{\mathbb{R}} M = 2^2 = 4$ . These manifolds are called *almost-quaternionic* (see e.g. [3], [9], [14]).

If  $g$  is Hermitian for  $I_1$  and  $I_2$  then  $g$  is called *almost-quaternionic-Hermitian*.

If the suitable fundamental 4-form  $\Omega$  is closed then an almost-quaternionic-Hermitian manifold is called *almost-quaternionic-Kähler*. The most important example of an almost-quaternionic-Kähler manifold is the quaternionic projective space  $\mathbb{H}P^n$  with a standard metric (see e.g. [3], [12]).

2. More generally, in the case when the holonomy group of a given almost-quaternionic-Hermitian manifold  $(M^{4m}, g)$  is contained in the group  $Sp(m) \times Sp(1)$  then it is called *quaternionic-Kähler* (see e.g. [2], [14]). Emphasize the important result by Berger [1] that a quaternionic-Kähler manifold (of dimension  $4n \geq 8$ ) is Einstein (Riemannian manifold of constant Ricci curvature). Moreover, quaternionic-Kähler manifolds whose dimension is a multiple of 8 are spin manifolds ([11], [14]).

Some examples (but not called *Clifford-type*) of manifolds with holonomy group contained in  $Sp(m)$ ,  $Sp(m) \times Sp(1)$  or  $Spin(n)$  one can find in [14].

Let  $M$  be a  $(n+1) \cdot p$  ( $2^w \cdot p$ )-dimensional Clifford-type manifold and  $x \in M$ . We can identify  $T_x M$  with  $\mathcal{A}_n^p$ . However, this Clifford-type structure of  $T_x M$  may not be invariant under parallel displacement. Using this identification we could define  $\Omega$  which is invariant under parallel displacement. One can prove

THEOREM 4.1 [10].  $\Omega$  is invariant under the action of

$$Sp[(n+1) \cdot p] \times Sp(n+1) \equiv Sp(2^w \cdot p) \times Sp(2^w).$$

Hence  $\Omega$  is independent of the choice of a Clifford-type structure on  $T_x M$ . By the above discussion and Theorem 3.2 ( $\Omega^p \neq 0$ ) we have

LEMMA 4.1. The form  $\Omega$  defined above is a closed differential form of degree  $2^w$  and of maximal rank.

THEOREM 4.2. Let  $M$  be a  $2^w \cdot p$ -dimensional Clifford-type manifold and let  $B^i$  denote its  $i$ th Betti number, then

$$B^{2^w \cdot i} \neq 0 \quad \text{for } i = 0, 1, \dots, p.$$

Proof. By the above Lemma 4.1  $\Omega$  is a closed  $2^w$ -form of maximal rank. Hence  $\Omega^i$  is a nonzero element of  $H^{2^w \cdot i}(M, \mathbb{R})$ . Since  $B^{2^w \cdot i} = \dim H^{2^w \cdot i}(M, \mathbb{R})$ , so  $B^{2^w \cdot i} \neq 0$ . ■

DEFINITION 4.6. Let us define the operators  $*$ ,  $L$  and  $\Lambda$  on the space of differential forms  $\mathcal{E}^r(M, \mathbb{R})$ , as follows:

if  $\omega$  is a differential  $r$ -form then  $*\omega$  is the  $(2^w \cdot p - r)$ -form such that

$$\begin{aligned} (*\omega)_x &:= *(\omega_x) \quad \text{for all } x \in M \text{ and} \\ L\omega &:= \Omega \wedge \omega, \\ \Lambda\omega &:= *(\Omega \wedge *\omega). \end{aligned}$$

A differential form  $\omega$  is said to be *effective* if  $\Lambda\omega = 0$ .

THEOREM 4.3. Let  $M$  be a  $2^w \cdot p$ -dimensional Clifford-type manifold and  $\omega$  — a differential form on  $M$  of degree  $r \leq p+1$ . Then

$$\omega = \sum_{i=0}^{\lfloor \frac{p}{2^w} \rfloor} L^i \omega_{ef.}^{p-2^w \cdot i},$$

where  $\omega_{ef.}^k$  denotes an effective  $k$ -form.

Proof. Let  $\mathcal{E}_{ef.}^k(M, \mathbb{R})$  denote the space of effective  $k$ -forms. By Theorem 3.1 there is a direct sum decomposition for  $r \leq p+1$ :

$$\mathcal{E}^r(M, \mathbb{R}) = \mathcal{E}_{ef.}^r(M, \mathbb{R}) \oplus L\mathcal{E}_{ef.}^{r-2^w}(M, \mathbb{R}) \oplus \dots \oplus L^t\mathcal{E}_{ef.}^{r-2^w \cdot t}(M, \mathbb{R}),$$

where  $t = [\frac{r}{2^w}]$ . ■

The Chern Theorem [5] states the following:

Let  $M$  denote a compact Riemannian manifold with a structure group  $G$  and  $W_1, \dots, W_k$  be the irreducible invariant subspaces of  $\mathcal{E}^q(M, \mathbb{R})$  under the action of  $G$  and let  $P_{W_i}$  be the projection map of  $\mathcal{E}^q(M, \mathbb{R})$  into  $W_i$ , i.e.

$$P_{W_i} : \mathcal{E}^q(M, \mathbb{R}) \rightarrow W_i.$$

Then, if a  $q$ -form  $\omega$  is harmonic, so is  $P_{W_i}(\omega)$ .

Clearly each of the  $L^i\mathcal{E}_{ef.}^{r-2^w \cdot i}(M, \mathbb{R})$  is an invariant subspace of  $\mathcal{E}^r(M, \mathbb{R})$  under the action of the holonomy group  $G$ . So each  $L^i\mathcal{E}_{ef.}^{r-2^w \cdot i}(M, \mathbb{R})$  is a sum of the  $W_i$ 's. Therefore the projection of a harmonic form into  $L^i\mathcal{E}_{ef.}^{r-2^w \cdot i}(M, \mathbb{R})$  is again harmonic and we have the following:

**THEOREM 4.4.** *If  $M$  is a Clifford-type manifold of dimension  $2^w \cdot p$ , then there is an increasing sequence of Betti numbers*

$$B^i \leq B^{i+2^w} \leq \dots \leq B^{i+2^w \cdot z}$$

for  $i + 2^w \cdot z \leq p + 1$ ,  $i = 0, 1, 2, \dots, 2^w - 1$ ,  $z = [\frac{p}{2^w}]$ .

## References

- [1] M. Berger, *Remarques sur le groupe d'holonomie des variétés Riemanniennes*, C.R. Acad. Sci. Paris 262 (1966), 1316–1318.
- [2] A. L. Besse, *Einstein Manifolds*, Springer-Verlag, 1987.
- [3] E. Bonan, *Sur les  $G$ -structures de type quaternionien*, Cahiers de Top. et Geom. Diff. 9 (1967), 389–461.
- [4] G. E. Bredon, *Introduction to Compact Transformation Groups*, Academic Press, Inc., 1972.
- [5] S. S. Chern, *On a generalization of Kähler geometry*, Algebraic Geometry and Topology, A Symposium in honor of S. Lefschetz, Princeton, N.J., 1957.
- [6] W. V. D. Hodge, *The Theory and Applications of Harmonic Integrals*, Cambridge Univ. Press, New York, 1952.
- [7] S. Kobayashi, K. Nomizu, *Foundations of Differential Geometry*, Vols. I-II, Interscience, 1963.
- [8] V. Y. Kraines, *Topology of quaternionic manifolds*, Trans. Amer. Math. Soc. 122 (1966), 357–367.
- [9] W. Królikowski, *On Fueter-Hurwitz regular mappings*, Diss. Math. (1996), 353.
- [10] —, *Two problems from a hypercomplex analysis*, Note di Matematica, Preprint.
- [11] S. Marchiafava, G. Romani, *Sur fibrati con struttura quaternioniale generalizzata*, Ann. Mat. Pura Appl. 107 (1976), 131–157.
- [12] E. Martinelli, *Variétés à structure quaternionienne généralisées*, Rev. Roumaine Math. Pures Appl. 10 (1965), 915–922.

- [13] A. Weil, *Introduction à l'étude des variétés Kähleriennes*, Herman, Paris, 1958.
- [14] S. Salamon, *Riemannian Geometry and Holonomy Groups*, Longman, 1989.

Address of Author:

ul. Motylowa 4 m 27

91-360 ŁÓDŹ, POLAND

*Received February 26, 2002; revised version November 20, 2002.*